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i L% Ar KOG TmEY A —TH11—1

T # SF 5% 3H 3H b 4fn 64 5H 31HET
S BERIE SR AT
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woa & (1) T F i & (M) THEBIAMEE (1)
BHIRRFSHH 250,635,000 227,850,000 (A) 22,785,000
AL G | 254,008,700 230,917,000 (B) 23,091,700
BT S S 242,880,000 220,800,000 (C) 22,080,000
AL S Rt 246,149,200 (F) 223,772,000 (D) 22,377,200
MR 3,269,200 2,972,000 297,200
G (B) X (C) =+ (A)=(D) < (D) IF TRV T>

(D) X0. 1=(E)
(D) + (E) = (F)




% W BER/NERKBHABESREISE No. 1
RETZEEI REtEHEE e
34 L 3- b= 1ﬁ;i =
® H W= g B B s g B B e | EUHEEE WE
[ERZAR %
[ #ETHE = 68,035,640 = 70,063,808 2,028,168 HE%H
| s L =X 33,774,791 = 34,150,971 376,180 HE%E
ID| AR T2 Y 66,612,646 = 66,612,646 0
ERCEREX ¢ 168,423,077 170,827,425 2,404,348 H4%A
Him g
I| ke Y 8,359,132 = 8,451,491 92,359 HE%H
0| B5E e =X 26,328,952 =X 26,603,234 274,282 HE%H
— R R 2y 24,738,939 X 25,035,268 296,329 HEEH
Fam 59,427,023 60,089,993 662,970 H4%E
EFF 227,850,100 230,917,418 3,067,318 H4%H
T EMmAS T 227,850,000 230,917,000 3,067,000 H4%E
THE RS Y%A 22,785,000 23,091,700 306,700 HE%HE
wER (LEE) 250,635,000 254,008,700 3,373,700 H4%E




£ BER/NERARRABERIETSE No. 2
TEER THEEE —
® H W= BE  HE S &% B EE  S{E 3 | SOERE RS
I |BEITE
A RS KE TS = 67,518,903 = 69,547,071 2,028,168 i%%
B |[{KECERUHE T = 516,737 = 516,737 0
&t 68,035,640 70,063,808 2,028,168 i%%




EAE ] BER/NERKBHABESREISE No. 3

RETE EAT RETEERE e

= . 7=t = 3 L 3 7 1ﬁ;i -5
® H W= g B B s g B B e | EUHEE WE

A [FAEIZSIETIE

1 |EERGETE 1 = 2,295,418 1 =X 2,295,418 0
2 Pk ILE 1 K 178,731 1 = 186,851 8,120 HE%E
3 |EELE T E 1 K 1,463,472 1 =X 2,451,268 987,796 H4%H
4 |EKMETLEF 1 = 10,009,588 1 = 10,259,588 250,000 HE%H

5 |NEKETHE 1 = 30,604,044 1 =X 30,604,044 0
6 |BEXKETE 1 = 633,141 1 = 660,154 27,013 | BE%H

7[Rk E T 1 X 10,719,763 1 XK 10,719,763 0
8 |IMESIE T H 1 = 2,659,704 1 = 3,100,704 441,000 HE%H
9 |HiE-nssE 1 K 8,955,042 1 =X 9,269,281 314,239 HE%H
&t 67,518,903 69,547,071 2,028,168 HE%H




% W BEEANFREERESIETS No. 4

B H BB | oy wg o owE sm | mE wm o wm  sg | EOMWE W3
B [(RECEEZEISE
1 (B R LF 1 K 57,857 1 X 57,857 0
2 [EEESETE 1 K 327,143 1 K 327,143 0
3 |NESETEH IRE- 51,588 1 3 51,588 0
4 |BIESETE 1 K 26,200 1 K 26,200 0
5 |Huk-sst IRE- 53,949 1 3 53,949 0

&t 516,737 516,737 0




4 REHEVE /N PR R i B e T [ PER] No. 2
4 PR i} : - ﬁﬂrgﬁﬁﬁ - ﬁj@t% RV 5
= OB B Sl ® OB B Sl
I |G L%

1 |5f - B )RR 0 1] K 7,363,020 1 K 7,479,980 | 116,960 |HY%HE
2 |FEATERAM 2-1 BT o 1 = 3,964,420 1] K 3,669,200 | —295,220 |JEi%E
2-2 LBy 1 K 1,136,080 1 K 1,141,320 5,240 H4%E
3 |AERMN 1] K 16,206,520 1 K 16,228,220 21,700 |HY%E

4 |IENAHER 1= 542,750 1= 542,750 0

5 |FhE SRR 1] K 344,910 1] K 344,910 0

6 |hEFE R 1 K 66,650 1 K 66,650 0

7 |BHAE - AR SR R 1= 303,250 1= 303,250 0

8 | K SKEHRENRAH 1= 363,840 1= 363,840 0
9 |HEPNECERR I 1] K 2,789,370 1] K 3,316,870 | 527,500 |HY%HE

10 [FEPYIEAE B 1] K 185,330 1] K 185,330 0

11 [IRFcHE= T 1 K 508,651 1 K 508,651 0
At 33,774,791 34,150,971 | 376,180 H9%E




